EARAROBEEIERT — 2 N— IBISH —F

20185 7H218 (£) 5SEIEERI1H

m C2+=# 7% ‘ (Xfg] B ‘ [REmshE] — | & (B) 12000 B
[A&4£] 1 7% :200,000" ~ 23%&:46,000”  33%&:26,000H”  43%&:18,000 M .~ 57 :10,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o 4 9 | B 1:15.0 1-1 39.5| — 3 495 | BREABAE (B%FE)
1 3|74 LA MET 56.0 (=) 4 | @ ?P N
LT R4 YL—> B:2A4XT74LX b FVF LT — L
o9 TR — :15. = . — NBEEAE (BXfE
201111 k—a—<21TY— % 5 oG 1(135)5 5-3 38.8 1 (4_321) :’;‘;a&ﬁ%i‘a
R:TwINEry b BTSFFAN-I LA 794577 —L
- _ s 47 | AR 1:15.8 2-2 39.3| — 2 442 | /NEEEAE (BEFE)
3155 AF—=UT7—h 56.0 2 (-8) #8) IX— b F—y TRES
LB ThI— B:TaU7 ek ke
. $5AKh : - - FEF= (BER)
alzl 7| xe—47 i 5 e 17151:? 4-4 39.2 6 <4_169) m/ﬂag_
L:hY/RI47T BEJNITRXS > SZvae]
“ BaAZ 116. - . - FBILES (B
N . MEEEEPE: # 7 | BAE oty I Y | EEE—
RGATAT v — BA—Y—FT8— M S
= I\ :16. — . = BREBAE (B%ME)
6 2| BAEARTAA 4 8 540 1(31/%2 66 .0 ! ?_37% kgg%%
Z:Nd BIVETLAT4T EXstie )
S5 5 : o9 | HER 1:16.4 3-5 399 — 5 476 | HHE (KiR)
7 6 ZT)—=KR—1 56.0 (1 1/4) -1) AR
GV IT RN BRI TS 1R ==
® I —F—EBIERL
13—7+—
230—7F—
Jol=5r= 3,5,6,7,1,2,4
40 —F— 3,5,1,7,6,2,4
[ N3
BB 3 480H 714K 1-3 150H B = 1-3 510 3EHE 1-3-5 520M
8 B 3 200M 3-5 260M B H 3-1 900M K31 =15 3,240H
1 1309 1-5 160M

ABICOVWTRDTEEERROODE. TR LIV,




